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/ Work out the size of angle x \
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standard form.

Write 1.4 X 107 as an ordinary
number.

\_

mVrife the number 40,000,000 in \

The diagram shows a regular hexagon and a regular octagon.

/ Solve: 3x — 1 =13x—5 \
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/ Expand and Simplify

(2x + 1)(x + 2)(x + 3)

\_

<

/

Score___ /6 www.accessmaths.co.uk @WA

\_
4

17 ¢cm
10 cm
D C
ABCD i1s a rectangle.
AC=17 cm.
AD =10 cm.

Calculate the length of the side CD.

Qﬂve your answer correct to one decimal place. /
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ABCD i1s a rectangle.
AC=17 cm.
AD =10 cm.

Calculate the length of the side CD.




